
Anfängliche Bilanz
(Kapitalverlust)

Nominelle
Kapitalherabsetzung Kapitalerhöhung

Aktiven    

Umlaufvermögen 50 50 60

Anlagevermögen 100 100 100

Bilanzwert Aktiva       150      150      160

Passiven    

Fremdkapital    

Verbindlichkeiten aus LL 15 15 15

Bankkredit 115 115 115

Eigenkapital    

Grund- /Stammkapital 30 20 30

Gesetzliche Reserven 15 0 0

Verlustvortrag -25 0 0

Bilanzwert Passiva      150      150      160

Reinvermögen (Eigenkapital) 20 20 30

Grund- /Stammkapital + GR 45 20 30

Reinvermögen / (Grund- /
Stammkapital + GR)        44%    100%    100%
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